[[normalized x? probability ]

_l . .
10 : 1.06 :
R 0.05[--
+ [Entries’ 445537
= M Mean 1.031
1072 e .
Std Dev 1,063
dhey 0.04

Entries

Entries 445216

- | Mean 1.031 : : : + [ WMean
S Dev. 0.03f--* e nge ey (S0
"""" 0.02
0.01%: -:

I TITE OO FOUTE PP TOUOR POV PP T PR

o

I

@
"2 4 6 8 10 12 14 16 18 20 0% 01020304 0506070809 1
X2 Prob(x?)

=== DQM_CKFFit_1000evt
= DQM_CKFREFit_1000evt
m—— DQM_MKFitREFit_1000evt
e DQM_TESTOLHIT_POS

n

3

< X2/ndf>
T

< op./p.> (%)

Ratio
Ratio

=3 -1 0 2 3
TP n (PCA to beamline)

< Xx2/ndf>
< x2/ndf>

Ratio

Ratio

T

o

< op/p, > (%)

Ratio
e
&
T
.
ooz xw ST b e g e

107 1 10




	Contents
	Page 1


